P-1II (1+41+1) G /20 (N) SUP
2020

GEOGRAPHY (General)
Paper Code : IV-A & B
(Human Geography)

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : Il |A|& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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TiE@s — (T Paper II-A (MCQ) @<k III-B (Descriptive) |

Subject Code : |III|A|& |B

Subject Name :
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Paper Code : IV-A
Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Muslim Gujjars are mostly found in which states of India?
(A) Jammu & Kashmir and Himachal Pradesh
(B) West Bengal and Bihar
(C) Rajasthan and Uttar Pradesh
(D) None of these

1. SRCA (@ Sy Pifers weeama (@ AR ohe A —
(A) &9 ¢ FAIF @32 f2wiver ol
(B) ~ifF*osst @ g
(C) AT € TaFeT=
(D) ICAIDE = |

2. Bushmen are the native people from which of the following continents?

(A) North America
(B) South America
(C) South Africa

(D) Asia
2. FACH NS 2O T oD @I AR 2
(A) TeF SE!
(B) wfwwel Siciizl
(C) wiwrel wifzpapl
(D) @i
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3. Eskimos are the Primitive people living in —
(A) Western Europe
(B) North America
(C) North Asia
(D) Central Africa.

3. OfF A el SEsi @ o R I —
(A) ~If*6% ST
(B) T&x SR
(C) Tz @<
(D) &y SIIfe<l

4. Which is the main activity of the Eskimos during the short period of Summer
Season ?

(A) Fishing
(B) Lumbering
(C) Hunting
(D) Animal grazing
4. % A R TS (@IF S IS A
(A) IATR
(B) s MaT
(C) =i
(D) “wbie
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. “Toto’ is a primitive tribal community found in the district of :
(A) Cooch Behar

(B) Alipurduar

(C) Jalpaiguri

(D) Darjeeling

. (OIS 2Bl Toefoms (@ (SRl 2iedl AR —

(A) FBRER

(B) S

(C) Teroiizefe

(D) wiferfere

. At what scale(s) do Geographers study population distribution?

(A) Local
(B) Local, regional
(C) Local, regional, national

(D) Local, regional, national and global

. SCAETRVET (I (LI SR A5 SR A —
(A) Z=

(B) T, Siteefers

(C) =R, SNl Gor

(D) B, SNefer, Tror, Ryl
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7. Patterns of population distribution tend to be:
(A) Even
(B) Uneven
(C) Static
(D) None of these
7. QPR I5CTE (GO0 2 —
(A) 31
(B) =t
(C) FEfeatat
(D) @A T

8. Which parts of the globe have the highest population densities?

(A) The Northern Hemisphere
(B) The equator

(C) The Southern Hemisphere
(D) None of these

8. SfA (PN TR SR TG A ?
(A) & (ol
(B) =iy w1xes
(C) wiwwel calencel
(D) @A T
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9. What are the causes of migration :
(A) Push factors
(B) Pull factors
(C) Both (A) and (B)
(D) None of these

9. ARATT TR [F?
(A) 7P 3R
(B) =1 3
(C) TeE (A) ¢ (B)
(D) &FIAIHE =

10. What are the main reason behind male migration in India from rural to urban
areas?

(A) Employment
(B) Marriage
(C) Education
(D) All of these

10. OIRCS 7FWE &N (A0S 22 AAareacs el FEef e
(A) FFRE
(B) &=
(C) forst
(D) ToIRF e
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11. Fertility is :
(A) The maximum possible number of children that can be born each year
(B) The incidence of child bearing in a country’s population
(C) Used to assess the health of a population
(D) The number of live births in a given year

11. =& 2 —
(A) TS =T ACEH &N ("7 Heg ARl
(B) (I (03 Gepiei Rlws eigsiierel
(C) GePiRaia JIg Afs=l <1
(D) % I2@ Gifie wg w4

12. Some analysts point to a future problem in countries such as Japan, Italy, and
Canada, where the swelling ranks of the elderly have fewer and fewer young
people to support them in old age. This condition is referred to as :

(A) Over population

(B) Under population

(C) The demographic transition
(D) An absence of fecundity

12. g RER6GRER NCo G, 2oife, TS defe (Rre 35 NGER SR
I A R RS [ J7 REW MR 2R FAE | G2 SIS
@ =_—

(A) TRl
(B) == el
(C) TePRATT faea

(D) ¥&w T TSI
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13. Which among the following types of rural settlement is found in the Sutle;,
Ganga, Brahmaputra plains?

(A) Compact
(B) Hamlet

(C) Scattered
(D) Dispersed

13. *[ow, o5, gM7E STISHCS Wpa (T R ai¥iel Gepiie o7 F T[—
(A) CoADR=
(B) N6
(C) [fwa
(D) ffoze

14. Considering the types of settlement, the people of urban settlement are involved
in different activities that includes —

(A) Business and manufacturing
(B) Fishing and farming

(C) Mining

(D) Forestry

14, feq @ARe1 SPIE, TF 9eTFE NgEa [foq Fw g AT | 9ufd
T —
(A) T e sl fom
(B) W& i ¢
(C) ¥ Trerr™

(D) F=e1&s
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15. Which of the following languages is included in the Indian Constitution?
(A) Malayalam
(B) Konkani
(C) Dogri
(D) All of these
15. wires W[y ke @W oril/erel I wie—
(A) TR
(B) 3=f
(C) comidt
(D) a2 |
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P-1II (1+41+1) G /20 (N) SUP
2020

GEOGRAPHY (General)
Paper Code : IV-B

(Human Geography)
[New Syllabus]
(Supplementary)
Full Marks : 35 Time : One Hour Thirty Minutes
The figures in the margin indicate full marks.
Group - A
Answer any fwo questions : 10%2=20
1. Write a short note on Toto tribe of North Bengal. 10
2. Define Migration? Classify migration and briefly elaborate the causes of
migration. 2+4+4=10
3. Define rural settlement. Briefly elaborate the different types of rural settlement
with suitable examples. 3+7=10
4. Write a short note on distribution of Indian languages. 10
Group - B
Answer any three questions : 5%3=15
5. Write a short note on Type of Housing of Eskimo tribe. 5
6. Briefly describe the measures of fertility. 5
7. Briefly discuss the factors, which are responsible for uneven distribution of Indian
population. 5
8. Write a short note on optimum population. 5
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9. What are the major characteristics of urban settlements? 5

10. Write a short note on scope and content of Social Geography. 5
TAIM
e - =
QI ¥ 40HF Ted wie S0X3=30
S, IRCFHCA TSI (B! SIS FH5{(F AL FCAl 2 o
3. HAREECTR ke wie? sAfiEetas @diRen S R sEeeE FReef
Jofql T2 3+8+8=%0
©. &S GarIien Al 7S 7 Toe Trizad ARG fafen qata sl ifos
FFEee el mis | ©+a=30
8. WLCH(A SOR SR I T4 Al 2 S0
et - 9
@cieat feafb evs Tew wie €x9=3¢
¢. AR TAGITOTE SRR 474 T2I0F GI ALY BIAl (@04 | @
Y. WECHCH FIRAGT ARAASTH SCETH ! | @
4. SRS SO GG oo ARG B (0| «
b IR GERIRAT TCE G0 ERY B G | 4
5. (T Seeifer gaie (IRl & fee «
so. e wraitetd #ffd ¢ e Fewesl ¢ el | @
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